A EGH RS 4] 43W 5%

Korean J. Soil Sci. Fert. Vol. 43, No. 5, 722-727 (2010)

FYYner

Estimation of Carbon Emission and Application of LCA (Life Cycle
Assessment) from Barely (Hordeum vulgare L.) Production System

Kyu-Ho So*, Jung-Ah Park', Gil-Zae Lee’, Jong-Hee Ryu, Kyo-Moon Shim and Kee-An Roh

National Academy of Agricultural Science, Suwon, 441-707, Korea
!Econetwork Co., Ltd. Seoul, 137-888, Korea

’Foundation of Agri. Tech. Commercialization & Transfer Suwon, 441-857, Korea

This study was conducted to estimate the carbon footprint and to establish the database of the LCI (Life Cycle
Inventory) for barely cultivation system. Barley production system was separated into the naked barey, the
hulled barley and the two-rowed barley according to type of barley species. Based on collecting the data for
operating LCI, it was shown that input of fertilizer was the highest value of 9.52E-01 kg kg™ for two-rowed
braley. For LCI analysis focussed on the greenhouse gas (GHG), it was observed that carbon footprint were
1.25E+00 kg CO»-eq. kg naked braley, 1.09E+00 kg CO,-eq. kg™ hulled braley and 1.71E+00 CO,-eq. kg™
two-rowed barley; especially two-rowed barley cultivation system had highest emission value as 1.09E+00 kg
CcO, kg'1 barey. It might be due to emit from mainly fertilizer production for badey cultivation. Also N,O was
emitted at 7.55E-04 kg NzOkg'1 barey as highest value from hulled barley cultivation system because of high
N fertilizer input. The result of life cycle impcat assessment (LCIA), it was observed that most of carbon
emission from barely cultivation system was mainly attributed to fertilizer production and cropping unit.
Characterization value of GWP was 1.25E+00 (naked barey), 1.09E+00 (hulled bardey) and 1.71E+00

(two-rowed barely) kg CO»-eq. kg'l, respectively.

Key words: LCI, Carbon footprint, LCIA, LCA, Barley production system, Naked barley, Hulled barley,

Two-rowed barley

Sl A LCAZ A8 BAF}
a7 sol A 20019 2URE AW B
t} ISO/TR14025%2 #F&3}E Type 9] SHAAFXA
A AAAES] BHAS
At 2 A 122 Folol ABel e A
43l SAARE 2u|ol Ao AER LCAZ F
s AlEe] g SRS 22517 ek (S0 14025,
2006: B, 2004), E3, 27} AUolH WRUHL
2 AWED Qi At SA4E 43 sl 20004
AEE Thaelel AE oA LOAS HEsk] 24
Fhes wjEe Ul A7 BoSEAL Qith (845, 2009).

oﬁ
oX
[o
i)j
O
SL
Kl
_|>i
g oh
Ir
In
i

(]

A4 12010, 9. 30 £ : 2010, 10, 15
*A2hx A} . Phone: +82312900230
E—mail: khso@korea_ kr

ey LCAE A&3 Ay sP&HEH7E A+
njulgt Aol H|E, 7R Liﬂk‘i—i-lo %15
68719 A& & 60%°) sEFst= 40712 AEo]
ol ol Fol= T, A 22 13 HAHE 7F
AER7E Z3E] glov oY FHIFENE
gPob7] Qe 8= 13 FSAEe] Wi =W
glojelHo]A0] BAj2 13} srSAiES Saebdy <l
STl ALlEe] Sl Aol (ZHEF, 2009),
wepA ofof] gt A7t AlEsithal & 4= qioh
Hee Ags Aves =24 ALE 5534
ggo] 7kssto], fElvrtolAs H-Ke| ojmAl Al
o] AR R wol AufEar gt} et 7Rk
o] AufEtAML 19 Ht7]& —6Cola e} o]mzte]
e HeEle —4C, EHel= -8Coltt (Shim et al.
2004), WEFHRL= 1Y FFHA7| o] R -7C,
el -3C, MEre] -3Co|tt (&%13%, 1989).
2007 FAHE A5A R oot Ko ikt A

oE.
LR
Nl
o dd

i

Ay o > i rlo
e rlo



selo] AAkIoA ek

%_/\/\

i~

HiH & 40,365 ha, HdAA 345 kg 10a ', A
139 tono]t} (RDA, 2008). 2006\ &rxa] Aoz
25,000 ha, #XE=z] AufHA-2 8,000 ha, WFHI|=
24,000 ha®lal ARel= W7 Z AuiHA 2 44%5
A8k, AR = 13%, WERes 40%5 RS
(NAQS, 2006).

2 AFolde gl 77 19 1713 7|
FOoE He|o FRE AHY, ARy, WEHgR g2
sto] thet ZhEel ot 12 FAHE W EARY LOT
D/B =3 ehAYES] Abg 9 A JFEIE 5

stk

c

rorle

HFEH
>x =

o

M=z

H2]9] APy H7}F (LCA, Life Cycle Assessment)=
Aug], dxre] AR JREsle] SRS (IS0,
International Standard Organization)oA] A|A3F 3

723

2l Q| (Goal and Scope definition)

e DARlA Helef 753
o] YRE, 7e T 43 A
REOF ARREE HE| 1 kg AAOR Host

2]o] Aatel ARFH = FRH O FEE Al
TEE 7IEoR son, ol wad Hels uF
A =8 2 FAEoA K o, He] A, 2
2l 2k 8l G4 Zhjlo] o] FofAm, He| s Fol=
Hjae2 gueh HAvE Faskar 404 He
of sghelor nEFd Heds de Helo
LCA 32 IRt AL A" H9
o] AAsidict. AoH AlAd W
to gate (GtG)E Yo A= A (SH, &
Al A, sghol AMgEE dEeEd (34 B, Bx

o H

S
&

Al

211—

BOE g

Ale
A

o yg

Al
ol R]3
=~ h

Mo oy
o

o
-,
ol

o
Lo

2 32 N o R

f I

) OE —l>
)
et

B9 (58, MR, B B, oA (7, A% )
B YR gy, $A, B BolE 0EE
W EQEe] AT B3 A4Sk B

) ) B _ =o iFkslod H o M=
ARG B FAZE 150 140409] FAef o) Gubmvsiem) B E_i‘;"}j_q:L £ drelie Lol
sfol el B 9 WY, AnY BERA dng gy /B TF W AREWAS SAE o, due, wEe
_ o A o] mxd H3lod o A|AEIH O o]
Bk, A4Sl SAE AX st (150, 2006). ®, BEES HER eSS, AsHEAe 59
Upst {Downstream
(Upstream {Agricultural process)
process) process)
Seeding,
Herbicide
- Fertilizer ¢
o Maintenance of
- Pesticide
| - i : drainage hole
. Agricultural p| + Fertilization i
. Field
material Pest control .
Stamping, emission
Mulching (straw)
- Irrigation Additional fert,
- Electricity Irrigation *
Maintenance of
dralnaie hole | Waste
. Capital treatmen
Tractor Pesticide
goods
- Fuel \ ¢
Harvest
\ v {System boundary)
Threshing,
Refining

Fig. 1. System boundary (gate to gate) for production of badey.



724 458 - 9o} 0|2

P A gstach ol wFWz mzAuE 5 A4
A Ao} et WA ARAAL Relst 7]
wolt}

Hotd SEEXM (Life Cycle Inventory Analysis)
LCI D/B 55 9ot F& FUuiE=ol izt o
ARE 2007 HEAAEARY (RDA, 2008)S F4lo
= B 574] —‘?—617\}& A, et ey @

o, FHITEL LY 5 ANEAE 43D
52 AFgste] A4S (KCPA, 2007), d& AR&
Hl&E2 IPCC 1996 H|&

9 oHlE ARGz QIFE tf”]
As Eo MiEsds AEslt dsHrlE s 2
A sHHVIE =4 (KWA, 2007, MIFAFF,
2004)59] AwE EUYE viEws APl o714
Y, vIRET 5o SRAA Al it Rt
L 1dER ookal H|E ARROE <ldt AHEJ|E
2o Mgt vlaAse) HA2 Deela At 9T
Aol TRsd BAAE AR el ol qlat
BAGFe Tel YA L0 AL B
w9l AT Ay B SIsjo] AAAAR At
=G4 ARt AZEQJo] (PASS 4.1.3)F AME-
s, ol AW oisl S8 DB ) A
A5 D/BeE = =] gl A 9] D/B (&
2 Ecoinvent database)S AMESIAT

o o

Mo Fek™It (Life Cycle Impact Assessment)

S
Wby GRS il AAAARe Gl
E2& fY3t PASS softwares AMESIAY, AW F
Fke] ojma ARl HRsiel SHslA 145
L spAgezEel 1 Tl Table 13} Zo] BAE
o 7t gaEae) wols BeE GAY BT o
Foh= VAR AAY, BHEAES VIeE4ol

Hiby SEEM  And 2732 96 9%
£ wolg vzl e A 2
9 Glo]E] ghS Table 20 et AR2AL 2
R E-LIE= (46% Q}KLH]E'_ (38%) =
A E9laFe] oF 849%9] H|ZS HYT, AR &7
2 vlm 27%), IsH|RE (50%)§ Xﬁxﬂ FAFY] oF
T%E AAsHRen, wEHeel Fe {r]d HE
(53%)%}F SFetH|=E (31%)7F HA FUFS °oF 80%0%
o 225kt WEHale] Ao AMuldo] Eolefo] w
% % 71 BT, AFONE v 45
Utk olo] wE A A AW HETE 7t
A Uebeh o] F W Bl MY 2 A2
714 v]g&Z ®Hia 4 57E-01 kg kg ' naked braley,
AKXz 2 10E-01 kg kg ' hulled braley, WX 2|
9.52E-01 kg kg ' two—rowed braleyQt} EAo|A]
o] AN/ iEE AR Bre] 5 238-02 kg kg
naked braley, 6.66E-02 kg kg71 hulled braley,
9.74E-02 kg kg ' two—rowed braleyo]3it}.

9o} o] = J&EY HlolHE LCT B7k=+<l
PASS software® £A43lo] A¥S nEAHA 4 6t
SATIAE FHOR COZOR St LERY QT
(Fig 2). ¢J7]A] 6tf] 24712 (GHG, Green House Gas)
& ol (0, e O, oSkl (%0, &

B ShEke (HFCs), S881% (SF), F28}E4 (PFCs)
ofnl, WAllA F2 HEEE LAZKAE €O, CH,,
NyO©°]t} (IPCC 2001, Lee and Suh, 1993),

R ArkAA gt A7 Sl tigk LT +4]
7&3‘7_}- ‘QEE], éiﬂl UHZEE]A E}AA%Z%%}:O 71—;1—
1.25E+00 kg COs—eq. kg naked braley, 1, 09E+00
kg COs—eq. kg ' hulled braley, 1.71E+00 COs—eq.

=

Oo?;‘,_oﬁ
do Hlr

Table 1. Impact categories in LCIA (by MKE, Ministry of knowledge Economy methodology).

Impcat categories Abbreviation Unit

Abiotic resource Depletion ADP 1 yr'1

Global Warming Potential GWP kg CO,-eq. kg
Ozone Depletion potential ODP kg CFC-eq. kg'1
Acidification Potential AP kg SOreq. kg’
Eutrophication Potential EP kg PO43'-eq. kg'1
Photochemical Ozone Creation Potential POCP kg CoHyeq. kg'
Human Toxicity Potential HTP kg 1,4 DCB-eq. kg'1
Freshwater Aquatic Ecotoxicity Potential FAETP kg 1,4 DCB-eq. kg’

Marine Aquatic Ecotoxicty Potential Terrestrial Ecotoxicity
Potential

MAETP kg 14 DCB-eq. kg'
TETP kg 1,4 DCB-eq. kg’




selo] akmbgolA sk

e
of
2
ox
He
™
i)
ox
ofl,
N
N
2
oo

725

Table 2. Background data of Inputs and outputs for the barely cultivation.

Data source

Hulled barley Two-rowed barley

) Quantity
Input/Output Unit
Naked barley
Input —kg" product---
seed kg 7.23E-02 8.26E-02
composts kg 4.57E-01 2.10E-01
N fertilizers kg 6.25E-02 6.82E-02
K fertilizers kg - -
compound fertilizers kg 3.09E-01 3.22E-01
lime kg - 3.05E-03
silicate fertilizer kg 2.49E-03 8.79E-04
pesticides kg 7.61E-04 2.51E-04
electricity kw 9.80E-03 9.80E-03
fossil feul L 2.19E-02 2.19E-02
HDPE-film m - -
Output
direct emissions kg 5.23E-02 6.66E-02
(CO2, CH4, N20)
waste treatment kg - -
product (barley) kg 1.00E+00 1.00E+00

4.65E-02 2007 incomes data (RDA, 2008)
9.52E-01 2007 incomes data (RDA, 2008)
2.50E-02 2007 incomes data (RDA, 2008)
4.72E-04 2007 incomes data (RDA, 2008)
5.34E-01 incomes data (RDA, 2008; KFIA, 2007)
5.68E-02 2007 incomes data (RDA, 2008)
2.48E-02 2007 incomes data (RDA, 2008)
5.06E-04 Agrochemical year book, Agrochemical use
guide book (KCPA, 2007)
3.28E-02 2007 incomes data (RDA, 2008)
3.19E-02 2007 incomes data (RDA, 2008)
4.25E-03 2007 incomes data (RDA, 2008)
9.74E-02 IPCC 1996
1.08E-03 KWA, 2007, MIFAFF, 2004
1.00E+00 2007 incomes data (RDA, 2008)

GHG emissiontkg CO;-eq. kg barley)

HFC-1342 HFC-132a  HFC-23 SF6 CFC-14  Total (carbon.
footprint)

Fig. 2. Carbon footprint of badey production system
calculated by LCIL

kg ' two-rowed barleyQt} WE 2 wlzmalo] vha
A4l 71 i—%~ < dgol WFE 7t 71
W Ao 7191 oz AdEIth 659 247 F
CO:9| &l 7}%} =Qka, I ke ARe] 8 58E-01
kg CO2—eq. kgflnaked braley, ZX 7 7.61E-01 kg
COy—eq. kg 'hulled braley, W31 2| 1.22E+00 kg
COs—eq. kg ' two—rowed barleyth E3] mWzHz]
9] CO, HiEFo] thE F Fol Hlste] Wi¢ 2 =
Eodq. lr_g_lfl_o]; _9_/&17]__/_\_H1—1\H_J _[__g_o]x],o] CO,, CH,,
N,09] He| AgitolA WAek= Hle> 282t oF 70%, 10%,
20%%aL, HHAERFO] H|Fo] COx7} Wi il 71 th3ol
N:OQICH, 9| =082 WFH 247k WA gFo] FAF

st

A FEEIL AN GRS Sl A4
AAES AeH7 YHES giYst PASS software?]

100%

= Two-
rowed
barley

= Hulled
barley

g
e

ADP AP EP FAETP  GWP HTP  MAETP  ODP PoCP TETP

Fig. 3. Comparison of Charaterization value among the
badey production systems.

M2 ekt (Fig. 3).
W e og?‘z,k Fol A ujFnele] 2

wasler anelel 2
A2 ARSI el et et 2
wrh A72usE R (GWP)S} JSSPISERY (POCP)
W] B3RsPh Sl ekt i 2t
Felwl Lo $4 Ansln AAsts FFS HYO
u, Bl WAL Fa @458 kel No, €O,

o aFS W= GWPS} POCP 5| AgpiFel ol
3 Zgko] o] thehgiet,

¢

A3t JEFHTe] B2 AHe, ZEg),
iz a7} ZH2k 1.25E+00, 1,09E+00, 1.71E+00 kg
COz-eq, kg 0|9, HSRBFAABIEAA WFL 1.42E-04,
1.30E—04, 2.04E-04 kg C,Hs—eq. kg '@t} - GWP
ol 9 F= HAAAY] 2382 v 24
I HajAfugEieiolqitt, #5E GWP kel Ak



726 47} - 9o} o] A -

7ol AR A vl 17%, A
MAFEA] (field emission)©] 22%, ZAHE|Q] AL H|R
MAF T1%, AR BAF 28%, WMFH = H|ZAYAF 82%,
R YA 162, WFH 2] o] vlg g4kl ot 7]
ofEsk M B AL ThE B stel HREQY
o] @7] WEo g HoE| gt

Sl A (Interpretation) LCIZ AFYE eFAAIF O] F
Al 7o=E BASHITh ek Aags vm A
AR, woF RS, oldAl AR, A A
34, 2SS, drledEsdes FEskl, &
A7k B u AR R w

3= €Oy N0
ez 5743t 710%52 H]Jﬁ}"dﬁ} (Flg. 4), COx=
A . HEMART
oA 7+ E%% *&4 P"ﬂt‘r =5 ZOﬂ— o 2] 7}
1,09E+00 kg COs kg™ ' barley & 7P =9ttt He]
& AT 9 o mEReh con el
9.68E-02 kg COq kg barley@2 7F =9ttt N,O0=
H 2 kR T Jel ik gol A 71 gol HiEE Qe
o] = 745;49,] dhAgFo] 71 wekal e 7.55E-04
kg N2O kg ' barley%ith. @A H|& FEefo] 713
° wEEeEg 2Ree] N0 Be olfl AaEY
% = Hote o 2EY FdFel 7HE Bl feed
2 dESleh, Iserman (1994)2 7% B

A H712 HiEEE N0 sEFol 81%7t d4d Ha

CO: emission

12E+00

1.0E+00

= Naked

S0E01 barley

6.0E-01 o Hulled

baley

ke C0; ke M barkey

40E-01

u Two-
towed
barly

20E-01

0.0E+00

Balyproducion  Fert Productin  Pesticideproduction Energyproduction  Agriculud  Waste trestment
(Field emission) (Usedbarey  materals production
production)

N;Oemission

=Naked
barley

mHulled

40E04 barlay

kg N2 kg barley

= Two-

batley

10E04

0.0E+00

Baleyprodustion Fert Productin  Pesticide production.  Energy production Agriculturd materials  Waste treatment
(Field emission) (Used badey production
production)

Fig. 4. Comparison of GHG emission (CO, and N,O)
among the badey production systems.

of ofsf wiEHta 3}ict, Hli*‘wﬂ L WER
27} 2.77E-04 kg N,O kg ' barley?] 7% we

%S Bt B4 Aat AR A4 sanjEo
Fo ARl HRAAL T HAu| RGOl HR AH| g}
Aol Aol co, B N,09] wiZ Azte] 7P &}

4y Row dAET,
LCA 7k BNsle] 2eQe BAsla o] Autg
A7 ko AAshe BAE 9

RIS AN GEAE Fo sl ne
wejeg} sG] NEE dolri Auele
o

FHow Sasiol & Ao B

Nl
2Hd
2
S

Ml JZ‘L o

¥ 8
selaAe Badde B Slstel W)
Axg], wWEHZ :[L—E—’B‘}O:] LCI database +&3}al
Ak GRS B 4 dare Wokstant,
Lol 5% AT 9% 5@%4 4%l At ol
SAAT wFRo) A9 ANH Folwel W
71 =9ko, E3] H|l®
two—rowed braley® T}E =
o, olo] wE ZAA S 2
N,O)E 9.74E—02 kg kg '
= et

LCI &4 A3 AHe], dHe] WFHe]of ghaids]
S Z+7F 1.25E+00 kg COs—eq. kg
1.09E+00 kg COs—eq. kg_1 hulled braley, 1, 71E+00
COy—eq. kg ' two—rowed barleyQt} GEEQlTFo]
Vg ge wrnele] sagdoe] g kot Covk
Zm u RS Re el A Wash, EF ol
A WEEE|o] Cco, ¥HYo] 1.09E+00 kg CO; kg '
barley © &2 7F =9ttt N,O= AiAH]o] 2Jgh Zuj
23] wiEwo] 7HY WAL, 53| AaAnwre] 7HE
we Auest A o] 714 Wk ghe
7.55E—04 kg N,O kg ' barley 3T},

Aaby FR7E +9AI Gwel SAJ gre Aw
2], Axg, Wzl zkzF 1,25E+00, 1,09E+00,
1.71E4+00 kg COs-eq. kg 0]9{11, GWP Zrol ¥gaka
T HYBAAIAY 8 Qe vEAgAL He|xuy
Ao it

Eoleko] 9 52E-01 kg kg

F35ol vlsf 453 =%k
A 71uj &5 (COz, CHa,
two—rowed braley® 7}

naked braley,

X] ] HH%

ol 2
o

e

e

HO

2153, 1989. FHAINE ZEui A=, p. 741.
Sl X 2004, SAAAAFEX] AR 2 9 ol=7|F. 3T
2514 A|2004-263.

rﬁ ol



EEERREE DRSS

SR 2009, A EA] JASAE T2

IPCC (Intergovernmental Pannel on Climate Change),
2001. Climate change 2001, Radioactive forcing of climate
change, The scientific basis. Cambridge University press,
UK. pp. 388-390.

IPCC. 2006. 2006 IPCC Guidelines for national green-
house gas inventories, Prepared by the National
Greenhouse Gas Inventories Programme, Eggleston H.
S., Buendia L., Miwa K., Ngara T. and Tanabe K. (eds).
IGES, Japan.

Iserman, K. 1994. Agriculture's share in the emissions of
trace gases affecting the climate and some cause oriented
proposal for reducing this share, Environ. Pollut. 83:95-11.

ISO (International Organization for Standardization), 2006.
ISO 14040:2006(E) Environmental Management - Life
Cycle Assessment - Principles and Framework.

ISO 14025. 2006. Environmental labelling and decla-
rations. Type III environmental declarations. Principles
and procedures. International Standard. ISO, Geneva, pp. 25.

KCPA (Korea Crop Protection association). 2007. Agro-
chemical use guide book. Korea Crop Protection associ-
ation. Seoul, Korea.

KCPA (Korea Crop Protection association). 2007. Agro-
chemical year book. Korea Crop Protection association.
Seoul, Korea.

AEY A W ATYBI A 727

KFIA (Korea Fertilizer Industry Association). 2007. fertilizer
production data. Korea Fertilizer Industry Association.
Seoul, Korea. www. fert-kfia.orkr.

KWA (Korea Waste Association). 2007. Agricultural waste
data. Korea Waste Association. Seoul, Korea. www.
kwaste. or. kr/data/

Lee, S.K. and J.S. Suh. 1993. Emission of Greenhouse in
the agricultural environment. 1. The cropping system
and emssion of the greenhouse -CO,, CHa, N>O- under
different cropping system. Journal of Korean soc. soil
sci. fert. 26:49-56.

MIFAFF (Ministry for Food, Agriculture, Forestry and
Fisheres). 2004. A study on Establishing effective manage-
ment system for equipped agricultural input wastes.
C2004-A1. Ministry for Food, Agriculture, Forestry and
Fisheres. Seoul, Korea.

NAQS (National Agricultural production Quality manage-
ment Service). 2006. cultivation trend of Major crops.

RDA (Rural Development Administration). 2008. 2007
Agro-livestock incomes data book. Rural Development
Administration. Suwon, Korea.

Shim, K.M., J.T. Lee, Y.S. Lee, and G.Y. Kim. 2004.
Recalssification of winter barley cultivation zone in
Korea based on recent evidences and in climate change.
Korean J. of Agricultural and Forest meteorology. 6:
218-234.





